Alfred Olufemi Bosede Some common fixed point theorems in normed linear spaces

Acta Universitatis Palackianae Olomucensis. Facultas Rerum Naturalium. Mathematica, Vol. 49 (2010), No. 1, 17--24

Persistent URL: http://dml.cz/dmlcz/140733

Terms of use:

© Palacký University Olomouc, Faculty of Science, 2010

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

Some Common Fixed Point Theorems in Normed Linear Spaces

Alfred Olufemi BOSEDE

Department of Mathematics, Lagos State University Ojo, Nigeria e-mail: aolubosede@yahoo.co.uk

(Received August 26, 2009)

Abstract

In this paper, we establish some generalizations to approximate common fixed points for selfmappings in a normed linear space using the modified Ishikawa iteration process with errors in the sense of Liu [10] and Rafiq [14]. We use a more general contractive condition than those of Rafiq [14] to establish our results. Our results, therefore, not only improve a multitude of common fixed point results in literature but also generalize some of the results of Berinde [3], Rhoades [15] and recent results of Rafiq [14].

Key words: Common fixed point, contractive condition, Mann and Ishikawa iterations.

2000 Mathematics Subject Classification: 47H10, 54H25

1 Introduction

Let K be a nonempty closed convex subset of a normed linear space E and $T: K \to K$ a selfmap. For arbitrary x_0 in K, we define Mann [11] iteration process $\{x_n\}_{n=0}^{\infty}$ by

$$x_{n+1} = (1 - b_n)x_n + b_n T x_n, \quad n = 0, 1, 2, \dots$$
(1)

Ishikawa [6] iteration process $\{x_n\}_{n=0}^{\infty}$ is defined by

$$\begin{aligned}
x_{n+1} &= (1 - b_n)x_n + b_n T y_n \\
y_n &= (1 - b_n')x_n + b_n' T x_n, \quad n = 0, 1, 2, \dots
\end{aligned} \tag{2}$$

where $x_0 \in K$ is arbitrary, $\{b_n\}$ and $\{b'_n\}$ being sequences of real numbers in [0,1].

The concept of Ishikawa iteration process with errors was introduced by Liu [10] and is the sequence $\{x_n\}_{n=0}^{\infty}$ defined by

$$\begin{aligned} x_{n+1} &= (1-b_n)x_n + b_n T y_n + u_n \\ y_n &= (1-b_n)x_n + b_n' T x_n + v_n, \quad n = 0, 1, 2, \dots \end{aligned}$$
(3)

where $x_0 \in K$ is arbitrary, $\{b_n\}$ and $\{b'_n\}$ being sequences of real numbers in [0,1] while $\{u_n\}$ and $\{v_n\}$ satisfy

$$\sum_{n=0}^{\infty} \|u_n\| < \infty \quad \text{and} \quad \sum_{n=0}^{\infty} \|v_n\| < \infty$$

respectively. We observe that (3) contains (1) and (2). We also observe that (3) contains the Mann iteration process with errors given by

$$x_{n+1} = (1 - b_n)x_n + b_n T x_n + u_n, \quad n = 0, 1, 2, \dots$$
(4)

Das and Debata [5] generalized the Ishikawa iteration processes from the case of one self mapping to the case of two self mappings S and T of K given by $(1 - k_{1}) = k_{1} + k_{2}$

$$\begin{aligned}
x_{n+1} &= (1 - b_n)x_n + b_n Sy_n \\
y_n &= (1 - b_n')x_n + b_n' T x_n, \quad n = 0, 1, 2, \dots
\end{aligned} (5)$$

By using Iteration (5), Das and Debata [5] established the common fixed points of quasi-nonexpansive mappings in a uniformly convex Banach space. Several other researchers such as Takahashi and Tamura [21] investigated iteration (5) in a strictly convex Banach space, for the case of two nonexpansive mappings under different assumptions and contractive conditions.

Later, Rafiq [14] studied the two-step iteration process with errors in the sense of Liu [10] by using the following sequence $\{x_n\}_{n=0}^{\infty}$ defined by

$$\begin{aligned} x_{n+1} &= b_n S y_n + (1 - b_n) x_n + u_n \\ y_n &= b_n^{'} T x_n + (1 - b_n^{'}) x_n + v_n, \quad n = 0, 1, 2, \dots \end{aligned} \tag{6}$$

where $x_0 \in K$ is arbitrary, $\{u_n\}$ and $\{v_n\}$ are two summable sequences in K.

We observe that iteration (6) contains all the iteration processes (1)-(5) as special cases.

In 1972, Zamfirescu [23] proved the following result.

Theorem 1 Let (E, d) be a complete metric space and $T: E \to E$ be a mapping for which there exist real numbers a, b and c satisfying $0 \le a < 1, 0 \le b, c < 0.5$ such that, for each $x, y \in E$, at least one of the following is true:

- $(Z_1) \quad d(Tx, Ty) \le ad(x, y);$
- $(Z_2) \quad d(Tx, Ty) \le b[d(x, Tx) + d(y, Ty)];$
- $(Z_3) \quad d(Tx, Ty) \le c[d(x, Ty) + d(y, Tx)].$

Then, T is a Picard mapping.

An operator T satisfying the contractive conditions $(Z_1), (Z_2)$ and (Z_3) in Theorem 1 above is called a Zamfirescu operator.

Remark 1 The proof of this Theorem is contained in Berinde [2]. Indeed, if

$$\delta = \max\left\{a, \frac{b}{1-b}, \frac{c}{1-c}\right\},\tag{7}$$

in Theorem 1, we obtain

$$0 \le \delta < 1. \tag{8}$$

Then, for all $x, y \in E$, and by using Z_2 , it was proved in Berinde [2] that

$$d(Tx, Ty) \le 2\delta d(x, Tx) + \delta d(x, y), \tag{9}$$

and by using Z_3 , we obtain

$$d(Tx, Ty) \le 2\delta d(x, Ty) + \delta d(x, y), \tag{10}$$

where $0 \leq \delta < 1$ is as defined by (7).

Remark 2 If $(E, \|.\|)$ is a normed linear space, then (9) becomes

$$||Tx - Ty|| \le 2\delta ||x - Tx|| + \delta ||x - y||, \qquad (11)$$

for all $x, y \in E$ and where $0 \le \delta < 1$ is as defined by (7).

In 2008, Rafiq [14] proved a convergence theorem and some corollaries to approximate common fixed points of quasi-contractive operators on a normed space by using iteration (6) and under the assumption that the two self mappings S and T satisfy the conditions of a Zamfirescu operator.

Our aim in this paper is to establish some common fixed point theorems by using a more general contractive condition than those of Rafiq [14]. We shall use iteration (6) and employ the following contractive definition: Let K be a nonempty closed convex subset of a normed linear space E and $T: K \to K$ a selfmap of K. There exist a constant $L \ge 0$ such that $\forall x, y \in K$, we have

$$||Tx - Ty|| \le e^{L||x - Tx||} (2\delta ||x - Tx|| + \delta ||x - y||),$$
(12)

where $0 \le \delta < 1$ is as defined by (7) and e^x denotes the exponential function of $x \in K$.

Remark 3 The contractive condition (12) is more general than those of Rafiq [14] and others in the following sense:

If L = 0 in the contractive condition (12), then we obtain

$$||Tx - Ty|| \le 2\delta ||x - Tx|| + \delta ||x - y||$$

which is the Zamfirescu contraction condition used by Rafiq [14], where

$$\delta = \max\left\{a, \frac{b}{1-b}, \frac{c}{1-c}\right\}, \quad 0 \le \delta < 1,$$

while constants a, b and c are as defined in Theorem 1 above.

The following lemma contained in Liu [10] will be required in the sequel.

Lemma 1 Let $\{\rho_n\}$, $\{s_n\}$, $\{t_n\}$ and $\{k_n\}$ be sequences of nonnegative numbers satisfying

$$\rho_{n+1} \le (1-s_n)\rho_n + s_n t_n + k_n,$$

for all $n \geq 1$. If

$$\sum_{n=0}^{\infty} s_n = \infty, \quad \lim_{n \to \infty} t_n = 0 \quad and \quad \sum_{n=0}^{\infty} k_n < \infty$$

hold, then

$$\lim_{n \to \infty} \rho_n = 0.$$

2 Main results

Theorem 2 Let K be a nonempty closed convex subset of a normed linear space E. Suppose that $S, T: K \to K$ are two selfmappings of K satisfying the contractive condition (12). Suppose also that $\{x_n\}_{n=0}^{\infty}$ is a sequence defined iteratively by (6).

Let $F_S \bigcap F_T \neq \phi$, where F_S and F_T are the sets of fixed points of S and T respectively.

If in iteration (6) we have,

$$\sum_{n=0}^{\infty} b_n = \infty, \quad \sum_{n=0}^{\infty} \|u_n\| < \infty \quad and \quad \lim_{n \to \infty} \|v_n\| = 0,$$

then $\{x_n\}_{n=0}^{\infty}$ converges strongly to a common fixed point of S and T.

Proof Since S and T satisfy the contractive definition (12), then for $x, y \in K$, we have

$$||Sx - Sy|| \le e^{L||x - Sx||} (2\delta ||x - Sx|| + \delta ||x - y||)$$
(13)

and

$$|Tx - Ty|| \le e^{L||x - Tx||} (2\delta ||x - Tx|| + \delta ||x - y||)$$
(14)

where $L \ge 0$ and $0 \le \delta < 1$ is as defined by (7).

By assumption, $F_S \cap F_T \neq \phi$. Let $p \in F_S \cap F_T$.

Therefore, for arbitrary $x_0 \in K$ and by using iteration process (6), we get

$$x_{n+1} - p = (1 - b_n)x_n + b_nSy_n + u_n - p$$

= $(1 - b_n)x_n + b_nSy_n - b_np - (1 - b_n)p + u_n$
= $(1 - b_n)(x_n - p) + b_n(Sy_n - p) + u_n$

and hence,

$$\begin{aligned} \|x_{n+1} - p\| &= \|(1 - b_n)(x_n - p) + b_n(Sy_n - p) + u_n\| \\ &\leq (1 - b_n) \|x_n - p\| + b_n \|Sy_n - p\| + \|u_n\| \\ &= (1 - b_n) \|x_n - p\| + b_n \|Sy_n - Sp\| + \|u_n\| \\ &= (1 - b_n) \|x_n - p\| + b_n \|Sp - Sy_n\| + \|u_n\| \end{aligned}$$

By using (13), we obtain

$$\begin{aligned} \|x_{n+1} - p\| \\ &\leq (1 - b_n) \|x_n - p\| + b_n [e^{L\|p - Sp\|} (2\delta \|p - Sp\| + \delta \|p - y_n\|)] + \|u_n\| \\ &= (1 - b_n) \|x_n - p\| + b_n [e^{L\|p - p\|} (2\delta \|p - p\| + \delta \|y_n - p\|)] + \|u_n\| \\ &= (1 - b_n) \|x_n - p\| + b_n [e^{L(0)} (2\delta(0) + \delta \|y_n - p\|)] + \|u_n\| \\ &= (1 - b_n) \|x_n - p\| + b_n [e^0 (0 + \delta \|y_n - p\|)] + \|u_n\| \\ &= (1 - b_n) \|x_n - p\| + b_n \delta \|y_n - p\| + \|u_n\| \end{aligned}$$

Therefore,

$$||x_{n+1} - p|| \le (1 - b_n) ||x_n - p|| + b_n \delta ||y_n - p|| + ||u_n||.$$
(15)

Similarly, by using iteration process (6), we obtain

$$||y_n - p|| = ||(1 - b'_n)(x_n - p) + b'_n(Tx_n - p) + v_n||$$

$$\leq (1 - b'_n) ||x_n - p|| + b'_n ||Tx_n - p|| + ||v_n||$$

$$= (1 - b'_n) ||x_n - p|| + b'_n ||Tx_n - Tp|| + ||v_n||$$

$$= (1 - b'_n) ||x_n - p|| + b'_n ||Tp - Tx_n|| + ||v_n||$$

By using (14), we get

$$\begin{aligned} \|y_n - p\| \\ &\leq (1 - b'_n) \|x_n - p\| + b'_n [e^{L\|p - Tp\|} (2\delta \|p - Tp\| + \delta \|p - x_n\|)] + \|v_n\| \\ &= (1 - b'_n) \|x_n - p\| + b'_n [e^{L\|p - p\|} (2\delta \|p - p\| + \delta \|x_n - p\|)] + \|v_n\| \\ &= (1 - b'_n) \|x_n - p\| + b'_n [e^{L(0)} (2\delta(0) + \delta \|x_n - p\|)] + \|v_n\| \\ &= (1 - b'_n) \|x_n - p\| + b'_n [e^0 (0 + \delta \|x_n - p\|)] + \|v_n\| \\ &= (1 - b'_n) \|x_n - p\| + b'_n \delta \|x_n - p\| + \|v_n\| \end{aligned}$$

which implies that

$$||y_n - p|| \le (1 - b'_n + b'_n \delta) ||x_n - p|| + ||v_n||.$$
(16)

By observing that $0 \le b'_n \le 1$, $0 \le \delta < 1$ and since $0 \le (1 - b'_n + b'_n \delta) < 1$, we obtain

$$||y_n - p|| \le ||x_n - p|| + ||v_n||.$$
(17)

Substitute (17) into (15) yields

$$||x_{n+1} - p|| \le (1 - b_n) ||x_n - p|| + b_n \delta ||x_n - p|| + b_n \delta ||v_n|| + ||u_n||.$$

and hence,

$$||x_{n+1} - p|| \le (1 - b_n + b_n \delta) ||x_n - p|| + b_n \delta ||v_n|| + ||u_n||.$$
(18)

By applying Lemma 1 and using the fact that

$$\begin{split} & 0 \leq b_n \leq 1, \quad 0 \leq \delta < 1, \quad 0 \leq (1-b_n+b_n\delta) < 1, \\ & \sum_{n=0}^{\infty} b_n = \infty, \quad \sum_{n=0}^{\infty} \|u_n\| < \infty \quad \text{and} \quad \lim_{n \to \infty} \|v_n\| = 0, \end{split}$$

we obtain

$$\lim_{n \to \infty} \|x_{n+1} - p\| = 0$$

which implies that $\{x_n\}_{n=0}^{\infty}$ converges strongly to a common fixed point of S and T.

This completes the proof.

Remark 4 Our result in Theorem 2 is a generalization of Theorem 2.1 of Rafiq [14].

Theorem 3 Let K be a nonempty closed convex subset of a normed linear space E. Suppose that $S: K \to K$ is a selfmap of K satisfying the contractive condition (12). Suppose also that $\{x_n\}_{n=0}^{\infty}$ is a sequence defined iteratively by (4).

Let F_S be the set of fixed points of S such that $F_S \neq \phi$. If in iteration (4) we have, $\sum_{n=0}^{\infty} b_n = \infty$ and $\sum_{n=0}^{\infty} ||u_n|| < \infty$, then $\{x_n\}_{n=0}^{\infty}$ converges strongly to the unique fixed point of S.

Proof By assumption, $F_S \neq \phi$. Let $p \in F_S$. Therefore, for arbitrary $x_0 \in K$ and by using iteration process (4), we get

$$x_{n+1} - p = (1 - b_n)x_n + b_n S x_n + u_n - p$$

= $(1 - b_n)x_n + b_n S x_n - b_n p - (1 - b_n)p + u_n$
= $(1 - b_n)(x_n - p) + b_n(S x_n - p) + u_n$

and hence,

$$||x_{n+1} - p|| = ||(1 - b_n)(x_n - p) + b_n(Sx_n - p) + u_n||$$

$$\leq (1 - b_n) ||x_n - p|| + b_n ||Sx_n - p|| + ||u_n||$$

$$= (1 - b_n) ||x_n - p|| + b_n ||Sx_n - Sp|| + ||u_n||$$

$$= (1 - b_n) ||x_n - p|| + b_n ||Sp - Sx_n|| + ||u_n||$$

Since S satisfies the contractive condition (12), we get

$$\begin{aligned} \|x_{n+1} - p\| \\ &\leq (1 - b_n) \|x_n - p\| + b_n [e^{L\|p - Sp\|} (2\delta \|p - Sp\| + \delta \|p - x_n\|)] + \|u_n\| \\ &= (1 - b_n) \|x_n - p\| + b_n [e^{L\|p - p\|} (2\delta \|p - p\| + \delta \|x_n - p\|)] + \|u_n\| \\ &= (1 - b_n) \|x_n - p\| + b_n [e^{L(0)} (2\delta(0) + \delta \|x_n - p\|)] + \|u_n\| \\ &= (1 - b_n) \|x_n - p\| + b_n [e^0 (0 + \delta \|x_n - p\|)] + \|u_n\| \\ &= (1 - b_n) \|x_n - p\| + b_n \delta \|x_n - p\| + \|u_n\| \end{aligned}$$

and hence,

$$||x_{n+1} - p|| \le (1 - b_n + b_n \delta) ||x_n - p|| + ||u_n||$$

By using Lemma 1 and the fact that

$$0 \le b_n \le 1, \quad 0 \le \delta < 1, \quad 0 \le (1 - b_n + b_n \delta) < 1,$$
$$\sum_{n=0}^{\infty} b_n = \infty \quad \text{and} \quad \sum_{n=0}^{\infty} \|u_n\| < \infty,$$

we obtain

$$\lim_{n \to \infty} \|x_{n+1} - p\| = 0$$

which implies that $\{x_n\}_{n=0}^{\infty}$ converges strongly to a fixed point of S.

To prove the uniqueness, we take $p_1, p_2 \in F_S$ and assume that $p_1 \neq p_2$.

By using the contractive condition (12) and $0 \le \delta < 1$, we get

$$\begin{aligned} \|p_1 - p_2\| &= |Sp_1 - Sp_2\| \\ &\leq e^{L\|p_1 - Sp_1\|} (2\delta \|p_1 - Sp_1\| + \delta \|p_1 - p_2\|) \\ &= e^{L\|p_1 - p_1\|} (2\delta \|p_1 - p_1\| + \delta \|p_1 - p_2\|) \\ &= e^{L(0)} (2\delta(0) + \delta \|p_1 - p_2\|) \\ &= e^0 (0 + \delta \|p_1 - p_2\|) \\ &= \delta \|p_1 - p_2\| \\ &< \|p_1 - p_2\| \end{aligned}$$

which is a contradiction. Hence, $p_1 = p_2$.

This completes the proof.

Remark 5 The uniqueness result in Theorem 3 is a generalization of Corollary 2.2 of Rafiq [14].

References

- Berinde, V.: A priori and a posteriori error estimates for a class of φ-contractions. Bulletins for Applied and Computing Math. (1999), 183–192.
- [2] Berinde, V.: Iterative Approximation of Fixed Points. *Editura Efemeride*, Baia Mare, 2002.
- [3] Berinde, V.: On the convergence of the Ishikawa iteration in the class of quasicontractive operators. Acta Math. Univ. Comenianae 73, 1 (2004), 119–126.
- [4] Chatterjea, S. K.: Fixed point theorems. C. R. Acad. Bulgare Sci. 25 (1972), 727–730.
- [5] Das, G., Debata, J. P.: Fixed points of Quasi-nonexpansive mappings. Indian J. Pure and Appl. Math. 17 (1986), 1263–1269.
- [6] Ishikawa, S.: Fixed points by a new iteration method. Proc. Amer. Math. Soc. 44 (1974), 147–150.
- [7] Kannan, R.: Some results on fixed points. Bull. Calcutta Math. Soc. 10 (1968), 71–76.
- [8] Kannan, R.: Some results on fixed points III. Fund. Math. 70 (1971), 169-177.

- Kannan, R.: Construction of fixed points of class of nonlinear mapppings. J. Math. Anal. Appl. 41 (1973), 430–438.
- [10] Liu, L. S.: Ishikawa and Mann iterative process with errors for nonlinear strongly accretive mappings in Banach spaces. J. Math. Anal. Appl. 194, 1 (1995), 114–125.
- [11] Mann, W. R.: Mean value methods in iterations. Proc. Amer. Math. Soc. 4 (1953), 506–510.
- [12] Osilike, M. O.: Short proofs of stability results for fixed point iteration procedures for a class of contractive-type mappings. Indian J. Pure Appl. Math. 20, 12 (1999), 1229–1234.
- [13] Osilike, M. O.: Stability results for fixed point iteration procedures. J. Nigerian Math. Soc. 14/15 (1995/96), 17–29.
- [14] Rafiq, A.: Common fixed points of quasi-contractive-operators. General Mathematics 16, 2 (2008), 49–58.
- [15] Rhoades, B. E.: Fixed point iteration using infinite matrices. Trans. Amer. Math. Soc. 196 (1974), 161–176.
- [16] Rhoades, B. E.: Comments on two fixed point iteration method. J. Math. Anal. Appl. 50, 2 (1976), 741–750.
- [17] Rhoades, B. E.: A comparison of various definitions of contractive mappings. Trans. Amer. Math. Soc. 226 (1977), 257–290.
- [18] Rus, I. A.: Generalized Contractions and Applications. *Cluj University Press*, Cluj-Napoca, 2001.
- [19] Rus, I. A., Petrusel, A., Petrusel, G.: Fixed Point Theory: 1950-2000, Romanian Contributions. House of the Book of Science, Cluj-Napoca, 2002.
- [20] Takahashi, W.: Iterative methods for approximation of fixed points and their applications. J. Oper. Res. Soc. Jpn. 43, 1 (2000), 87–108.
- [21] Takahashi, W., Tamura, T.: Convergence theorems for a pair of nonexpansive mappings. J. Convex Analysis 5, 1 (1995), 45–58.
- [22] Xu, Y.: Ishikawa and Mann iteration process with errors for nonlinear strongly accretive operator equations. J. Math. Anal. Appl. 224 (1998), 91–101.
- [23] Zamfirescu, T.: Fix point theorems in metric spaces. Arch. Math. (Basel) 23 (1972), 292–298.
- [24] Zeidler, E.: Nonlinear Functional Analysis and its Applications, I. Fixed Point Theorems, Springer, New York, 1986.